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Name: Date:
! Count by tens: 2 3
What numbers are

next? IF 8 +4 =12,

32, 33, 34, 35, Then 12 = +
10, 20, 30, 40,
4| 5 6

Sadie has 8 hats. Find the pattern
Sha Add.
wn has 2 hats. Jack and Solve

has 7 hats. How many hats '
do they have all together?

4’ 6’ 8’ ‘O’ ‘2’_—

15+5 =
+ + =
7 8 q Jazmine has 3 dogqs
She wants to qive
each doq 2 treats. How
B many treats does she
bx7=__ 56 - 8 = need to have total?
10 i 12 |Maria has 56 Flower
Is the number seeds. She wants to

Write an equation
for: the number 40
1S5 times 3s many as 8

“7" 3 prime number
or composite
number?

put an equal amount
of seeds into 8 baqs.
How many seeds will 90
in each baq?

Sseeds
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3 14 | Find the prime 15
factors of 24.
What place value
does the underlined
4 x (B3+7)= number represent?
16 | Writearatioto \7 18 |Wepaid $72For 9
statement: rate of dollars per soda?
For every four legs on
cats on Main Street i + 3 = 2
there 1S one tail. 2 Z 3—
= legs to tails
19 20 | The Perim?ter of 3| 21 | petermine increase
rectangle is 54cm. or decrease and by
It's lenqth i1s 6cm. What how much.
1S 1ts width?
$72
“+(-5)=__
$80
b
$88 4
$96 $
22 23 24
Solve this decimal
expansion.
2 -5
\/ 16 - 4 x4 =

1+07 +009 +0008 =
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Math Standards Assessment Sheet

Student Name:
Current Grade

Trial #1:

Date:___/___[/___

Time Start: __Time End.__ __Total Time:
Grade Level Attempted: Had toreverse grade levels?: Yes NO
Total Math Problems Completed: __ Total Errors:

Total Math Problems Correct:

Trial #2:

Date: ___/___/___

Time Start: __Time BEnd.__ __Total Time:
Grade Level Attempted: Had toreverse grade levels?: Yes NO
Total Math Problems Completed: __ Total Errors:

Total Math Problems Correct:

Trial #3:

Date:___/___[/___

Time Start._ Time End: Total Time:
Grade Level Attempted: Had to reversge grade levelg?: Yes
Total Math Problems Completed:_ Total Errors:

Total Math Problems Correct:

ResourcesFromRachel©2017




ANSWER KEY for Pre-Assessment

Name: Date:
! Count by tens: 2 3
What numbers are
next? IF 8 +4 = |2,

Then 12 = 4 + 8

32,33,34, 356,
10, 20,30, 40, 2 | 3¢ 37
4| 5 6
Sadie has 8 hats. Find the pattern
Sha Add.
wn has 2 hats. Jack and Solve
has 7 hats. How many hats '
do they have all together? 14
4: 6» 8» ‘O» ‘2)___ 20
i =
8 ,2 .7 _\7 5+5
7 8 q [Jazmine has 3 dogs
She wants to qive
each doq 2 treats. How
_ 358 many treats does she
5x7 B — 56 - 8 = / need to have total?
3x2=6
10 i 12 |[Maria has 66 Flower
Is the number seeds. She wants to

Write an equation
for: the number 40
1S5 times 3s many as 8

40 =6 x 8

“7" 3 prime number
or composite
number?

Prime

put an equal amount
of seeds into 8 baqs.
How many seeds will 90
in each baq?

I
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ANSWER KEY for Pre-Assessment

3 14 | Find the prime 15
factors of 24.
Wwhat place value
40 does the underlined
4 x (B3+7)= number represent?
2x2x2x3 78 8914
Hundredths Place
i Write aratio to | ] We paid $72 for 4
Statement: rate of dollars per soda?
For every four legs on
cats on Main Street i + 3 = 2
there 1S one tail. — — —
2 4 3
$8 per soda
41 ord4tol True
= legs to tails
19 20 | The perimeter of 2 | 2| | petermine increase
rectangle is 54cm. or decrease and by
It's lenqth i1s 6cm. What how much.
1S 1ts width?
72 =
14 + (-6) = 9 b increase
$80
by
W =2Icm $88
$96 ¢ 8
22 23 24
Solve this decimal
expansion. 4
2 -5
1+0.7 +0.09 + 0008 = \/‘6 =_ “ x4 =__
-3 3
1798 4 =1/4 =164
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